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There are no translations available.

Network 4 puzzle answers

1 group pic -You get one point for this correct answer

Gears -You get one point for each correct answer -maximum 2 points

1/10



Answer sheet for N4 (c)

Escrito por NHA
Viernes 08 de Febrero de 2013 16:35 -

Holes -You get one point for each correct answer -maximum 3 points

IF/THEN -You get one point for each correct answer -maximum 2 points
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b D

dB

(b)

b D
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dB

OUTPUTS -You get one point for each correct answer -maximum 5
points
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(e) E

W&M -You get one point for each correct answer -maximum 3 points

True’', 'False’ or 'not enough data to know' -You get one point for
each correct answer -maximum 8 points
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(a) The answer to all questions (A, B, C, D, E, F, G, H) is 'not
enough data to know'.

This may surprise you, but here are the facts:

1 We don't know the population of Meritica. 1000 people might
be all of it, or a tiny fraction of it, or a particular group (we don't
know who did the survey, or who answered it). We don't know
what the whole population believes -we don't even know what
those surveyed believe -we only know what those surveyed
SAID.

2 We don't know the crime rates in Meritica -we only know the
numbers of crimes reported. If the Meriticans have smart
criminals or a dumb security force, most crime could go
undetected and unreported. 'Crime figures' cannot give rates of
crime or even rates of criminals caught. For all we know, none
of them were caught!
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(b) You get one point for each correct answer -maximum 5
points

A false
B not enough data to know
C true
D not enough data to know

E false

(c) You get one point for each correct answer -maximum
S points

A not enough data to know

B not enough data to know

7/10



Answer sheet for N4 (c)

Escrito por NHA
Viernes 08 de Febrero de 2013 16:35 -

C false
D true

E not enough data to know

8 Best fit You get one point for each correct answer
-maximum 3 points
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